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FFA2 Chapter 9 Vocabulary Word Search

A cowboy rode to an inn on Friday stayed two nights and left on Friday. How could that be? His horse's name was
Friday.

Find the words in the puzzle that match the given definitions and circle them. On the line

beside each definition write the beginning location and ending location of the word. For

example, you might write the ordered pair (3A, 5D).
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1. aratio that compares the amount one 7. straight up and down

quantity changes as another quantity 8. flat, left to right

changes o . o

. 9. number in front of a variable; in y=mx+b the

2. the rate of change between any two points coefficient of x, 'm’, represents slope

on that line S

3. the steepness and direction of a line 10. a number without a variable; in y=mx+b, the

constant 'b' represents the y-intercept

4. slope-intercept form of a linear equation

11. the location where the line crosses the y
5. line goes up from left to right axis

6. line goes down from left to right
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2. the rate of change between any two points
on that line

3. the steepness and direction of a line

4. slope-intercept form of a linear equation

5. line goes up from left to right

6. line goes down from left to right
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1. aratio that compares the amount one 7. straight up and down

quantity changes as another quantity 8. flat, lefttoright
changes 9. number in front of a variable; in y=mx+b the

coefficient of x, 'm', represents slope

10. a number without a variable; in y=mx+b, the

11.

constant 'b' represents the y-intercept

the location where the line crosses the y
axis
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